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Guess Paper – 2008

Class – X
Subject – Mathematics
Time: 3 hours       






Max. Marks: 80
SECTION-A                                                                                          Marks: 10x1=10
1.  There is a circular path around a sports field.  Sonia takes 24 minutes to drive one round of the filed while Ravi takes 32 minutes for the same.  Suppose they both start at the same point and at the same time, and go in the same direction.  After how many minutes will they meet again at the starting point.
2.  Find the sum and product of the zeroes of the polynomial 2x2+5x+2 by using its coefficients.
3.  Find the discriminant of the equation 3x2-2x +3 = 0 and hence find the nature of its roots.
4. Evaluate 
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5.  Find number of terms in the A.P. (-2), 8,18, …..,198
6.  If TP and TQ are the two tangents to circle with centre O so that 
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POQ = 105.50 Find the angle between two tangents.
7.  Determine whether 3cm, 8cm and 6cm form sides of a right triangle.     
8.  Find the radius of a circle if the area of its one quadrant is 77/2 cm2.
9.  Find the probability of getting an even number when a die is thrown once.
10. If a point (k,-5) lies on Y-axis , find the value of k.
SECTION-B                                                                                               Marks: 5X2=10
11.   ABC is an equilateral triangle of side 14 cm find the altitude drawn from A.                                 
 12. One card is drawn from a well-shuffled deck of 52 cards.  Find the probability of   getting (i) a kind of red colour (ii) a queen of spade.      

13. Three vertices of a parallelogram taken in order are (1,2),(2,4) and (3,7).  Find its fourth vertex.    (OR)
      Find the length of the median of a triangle ABC drawn from A if its vertices are A(5,2), B(4,7) and C(6,-9)      
14. In Triangle ABC, right angled at B ,if  3 CotA = 4 ,find the value of SinA + CosC.
15. Solve by cross-multiplication method:  2x+y = 6 & 2x – y = -2.
SECTION_-C                                                                                         Marks:10X3=30
16. Solve by the method of completion of square.  2x2-7x+3 = 0
(OR)
      Solve:
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17 Using a single graph paper and draw lines of the following equations: 2y=x+8, 5y= x+14 and y-2x =1.  Obtain the vertices of the triangle so formed.
18. If the first term and common difference of an A.P are 2 and 8 respectively and the sum of the first n terms are 90 find n and the general term of the A.P.
19. Find the value of k for which the points (7,-2),(5,1) and (3,k) are collinear. 
20. Find the co-ordinate of the points which trisects the segment joining A(-2,2) and B(2,8).
21. If the sum of m terms of an AP is the same as the sum of its n terms, show that the sum of its (m+ n) terms is zero.
PAGE: 2
22. A hemispherical bowl of internal radius 9cm contains a liquid.  This liquid is to be filled into cylindrical shaped small bottles of diameter 3cm and height 4 cm.  How many bottles are necessary to empty the bowl?







23.  Prove that 
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          (OR)

                  (SinA + CosecA)2 + (CosA + SecA)2 = 7 + tan2A+Cot2A
24. Construct a tangent to a circle of radius 4cm from a point on the concentric circle of radius 6cm and measure its length.  Also verify the measurement by actual calculation.
 25. Two tangents TP and TQ are drawn to a circle with centre O from an external point T. Prove that 
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PTQ=2
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OPQ (OR)
       BL and CM are medians of a triangle ABC right angled at A.  Prove that 4(BL2+CM2) = 5 BC2.
SECTION-D                                                                                              Marks: 5X6=30
26. A solid toy is in the form of a hemisphere surmounted by a cone.  The height of the cone is 2cm and the diameter of the base is 4cm.  Determine the volume of the toy.  If a cylinder circumscribes the toy, find the difference of the volumes of the cylinder and the toy.    (OR)

A well of diameter 3m is dug 14m deep.  The earth taken out of it has been spread uniformly all around it in the shape of a circular ring of width 4m to form an embank ment.  Find the height of the embankment.
27. Find the missing frequencies if the mean is 78 and total frequencies if 50. 
	Class Interval
	50-60
	60-70
	70-80
	80-90
	90-100

	Frequency
	8
	x
	12
	y
	13


28. Rs.6500 were divided equally among  a certain number of persons.  Had there been 15 more persons, each would have got Rs.30 less.  Find the original number of persons.                                      
      29. At a point the angle of elevation of a tower is such that its tangent is 5/12.  On walking 240m nearer to the tower, the tangent of the angle of elevation becomes ¾.  Find the height of the tower.  (OR)
      From a window, h metres above the ground of a house, the angles of elevation and depression of the top and the foot of another house on the opposite side of the street are α and β respectively.  Show that the height of the opposite house is h (1+ tanα.Cotβ)
30. Prove that the lengths of two tangents drawn from an external point to a circle are equal. Using this to prove the following.  In fig AB = AC then BE = EC.
[image: image7.png]
[image: image8.png]









�











Prepared by V.Eswaran, PGT(Maths) Kendriya Vidyalaya Sri Ganganagar


Phone 0154-2482466














-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

_1264304898.unknown

_1264306363.unknown

_1264712007.unknown

_1264306057.unknown

_1264299356.unknown

